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1378 EX ®FH 37 38 75
2 58 Bz FEM 36 39 75
JEE =E et 41 36 77
4 FER HBX BHH 37 40 77
5 X% TR i 40 38 78
6 5 BHE XKES 40 38 78
1EH E# krFm 39 39 78
8FH%F =2 FEH 38 40 78
9 /NE &3k W AT 38 40 78
10 £ F1T MR 41 38 79
11 R IEE WEM 40 39 79
12EH BRE inta 40 39 79
13 B FIxX £ Tl 39 40 79
14 B#H #x fafE™ 39 40 79
15 B8 %A FEM 38 41 79
16 #EHY HE— FEH 42 38 80
17 HE &R FNdam™ 42 38 80
18 1A H*®A FEM 41 39 80
19 KA = tntE T 42 39 81
20 2% & ES 2 o] 42 40 82
21 A% JE— fatE™ 39 43 82
22 &8 WE oy a™ 43 40 83
23 &R AX evigisl 43 40 83
24 25 kB INFHKTH 42 M 83
25 /ME A evigisl 42 A 83
26 INE F BEEHM 41 42 83
27 #1B IEfE WEM 42 42 84
28 ki FEB NN ] 41 43 84
29 & & o™ 40 44 84
0 TR ik infE™ 39 45 84
31 &£ HiE izl 45 40 85
32 #5K HE il 43 42 85
33 Fith EE FEM 42 43 85
4 BEAR £= ALY 41 44 85
34 B B2 e 25 o] 41 44 85
35 Kl & ntaEm™ 40 45 85
378 A et 45 42 87
38 TE 1EA etii] 44 43 87
38 £ A& izl 44 43 87
39 #E IEXR etii] 41 46 87
41 BE FIF =Nl 45 43 88
42 IEHE BEE ntam™ 42 46 88
43 R FSHE FEM 44 45 89
44 A B FEM 39 50 89
45 EH EM et ] 44 46 90
46 SH T A 44 46 90
47 4 R BT 43 47 90
48 ZEY IEF izl 48 44 92
49 Kix #Z AR 47 48 95
50 #1% FiA =E:7] 45 50 95
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